Exponential and Logs Test Study Guide
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Directions: State whether the following is exponential growth or decay.
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Describe following transformations from the parent functlon

7) y — 4(2)x+5 5( 67)x-7 + 9
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9) The population of a hamster farm was 120 hamsters in 2003. The populatlon grows 3.3% per year. Whatis
the population of the hamster farm in 15 years? Round answer to the nearest hamster.
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10) In 2007, you deposit $1,230 in a bank account that compounds interest continuously at 5.3%. How long

will it take you to save $7,000? Jooo = \220¢° 0S3 t
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Rewrite the equation in exponential form. ‘
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Rewrite the equation in logarithmic form.
15) B = §78

Z 16) 6* =129 17) 994 =43 18) e3=201 et
loqt25=4 ] [log =X | [log #3-4T)  [fn 20 =3 |
Evaluate without using a calculator.
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Write each expression as a single logarithm. Then simplify, if possible. —
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= ¥expand each logarithmic expression.
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Solve the exponential equations
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Solve the Iogarith-r;ic equations
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